1.

M, Ol 18 M7 Be
o AAko] Bujzh o 2 %] 7

N
3

-

©°] Gxth 7 67)7HE Buj7} o 2y,




2.

O PEEEE AT

L
w

\VARR 4
0
AL
o
<
(¢}
E
w




ohe ARmAe] Fuls 9w GUz?

\

! 0.3m
/
L - - = -

0.6 0.7 x 0.3 = 0.126( m®)




4.

e AEgol Hajg FaA Q.

5cm 8cm

/ /.6cm

5cm 8cm 5cm 8cm
16atty) 4 16ty L 6 =
7 — U <
, =" ~ei)
denf ] denf ]
~20cm~~ ~20cm-

= (20X 16 x4) - (Tx6x4)
= 1280 — 168 = 1112(cm?)




A} RS R 2 25l 150mLe] 2ol ol ale. of
ol 82 715 A¢aw 100mLe] HOoR @ § Rofof ghizp?

o0
I

vV V¥
o
il
(@)
B3

ESA 7S 9E 5 A B F2

10x5x 15 = 750( cm?) ©| 22 750 cm® = 750mLe] 0] B g
Pyt

5 715 AY97] YiAE 750 - 150 = 600( mL) S o Fojof
SHEZ 100mLe] o2 61 Fojof Tk,




